
STREET SCENE EQUIPMENT,INC. 950-70103
365 McCormick Avenue 1988 - 1998
Costa Mesa, Ca. 92626 CHEVY / GMC CK

    Phone (714) 426-0590   Fax (714) 426-0591 FULLSIZE PICKUP
1992-1999

SUB,BLAZERS,TAHOES
INSTALLATION    INSTRUCTIONS YUKONS, JIMMYS

NOTE: Fit all parts before painting ( See special instructions for paint Prep. ) Parts that have been 
installed, prepped, or painted are not returnable.
VERY IMPORTANT !  Read and understand all directions and check the following parts list before starting
installation. 

NOTE: VALANCE FITS BUMPERS NOT BUMPER COVERS
NOTE: No Drilling Is Required

NOTE: The Valance & Brackets Fit PIAA 1200 Lamps & Some Other Small Round Lamps Can Be Adapted
NOTE: Speed Grille Part # 77103 For The Valance Opening Is Available As An Option

PARTS LIST
1              Valance 1     Instruction Sheet
2     1/4" X 1 1/2" Bolts 1   Street Scene Decal 1 8FT. Roll 3/4" Two Sided Tape
7       1/4" X 3/4" Bolts 9      1/4" Nyloc Nuts 2    5/16" Long Tubular Spacers
2        Light Brackets 18      1/4" Flat Washers 2            3/8 Nyloc Nuts
2        3/8 X 3/4" Bolts 4    # 6 Screws & Nuts
4      3/8" Flat Washers 4        # 6 Washers

TOOL LIST
          7/16" Wrench & Socket, 9/16" Wrench, Phillips Screwdriver, 1/4" Wrench For Lights & Brackets,

Utility Knife Or Scissors To Cut Tape, Safety Glasses, 10 MM Socket
NOTE:

The top edge and return must be prepped and painted so all visible areas are covered with paint,
and so the two sided tape will stick. It's designed to stick only to warm painted or plated surfaces.
1.   Before beginning installation be sure to wear proper eye protection.
2.   Remove the stock valance and retaining clips. Some 1-ton models do not have a stock valance.
3.   The bumper must be clean and free from wax. Clean with alcohol or wax stripper if necessary.
4.   Install the 2 sided tape just beneath the raised bead at the very top of the valance top edge return. You
      will have to cut out two or three triangles out of the tape to get it to go smoothly around the corners. Cut
      out the triangles leaving the top edge intact so you have a continuous top surface. The painted valance 
      should be warmed to 70 degrees F or higher to ensure good adhesion. Warm the surface to be taped 
      with a heat gun or hair dryer if necessary. Leave the tape liner ( Protective cover ) on the exposed side
      of the tape so it won't stick to the bumper till the valance is positioned where you want it. Pull just enough
      of the liner loose on one end of valance so you have a " Tail " sticking up that you can grip after the 
      valance is on the bumper.
5.   Attach the valance to the bumper in the three center holes with the 1/4 X 3/4" bolts provided. If you are
      installing the optional Speed Grille, It attaches at the top with the same bolts. Do not tighten until all
      fasteners are installed & the valance is positioned tightly against the bumper.
6.   Attach the outboard ends of the valance with 1/4 X 1 1/2" bolts provided. Install the tubular nylon spacers
      between the valance tabs and the bumper. Do not tighten until valance is positioned.
7.   Tighten the bolts starting with the three in the center. Hold the valance firmly against the bumper as you
      tighten. If the valance doesn't fit flush against the bumper, loosen bolts & reposition.
8.   The bumper must be warm for a good tape adhesion. Pull the top of the valance gently away from the 
      bumper in the area that you are removing the tape liner. After the liner is removed, go back and press the
      top edge of the valance firmly against the bumper to secure the tape.
9.   Install PIAA 1200 lamps or similar style driving lites in brackets with the # 6 fasteners, but do not tighten.
      Install 1/4 X 3/4" bolts in the inboard bracket slots and the small bumpers holes, and install the 3/8 X 3/4"
      bolts in the outboard breacket slots and the large bumper holes. Align the lamps then tighten all fasteners.

6/12/01   SSE   950-70103


